REVIEW - LIMITS CALCULUS AB -2
Multiple Choice b. —
2,3 X
, . (1-2x7)
1. Find Ilmﬁ
xow (x° +1) c. —7
a. 8
2
b. 1 d -=
c. O X
d.  +oo e. O e
R . X—
e. -8 Find lim ————
x—>-4"2x° +5x—-12
_—|x+2| a. 0
2. li b. 1
x>-2 X+42
a c. o
b. 1 d. -
' e. None of these
c. —©
d.  +oo 9
e. Nonexistent lim=—2__
X—9 _\/;
a. -6
. sin’2x—-2x° b. 6
3. !{Iﬁo 7 c. 0
a 0 d. -12
b. DNE e ®
c. -7/4 2
6 1
d. 7/4 If lim ———— == thenk=?
e. 2 n—»200—4n+kn
a. 3
4. For x#0, limy[ 1 _1 b
. For , — ——|=
h-oh\ x+h x C. 12
1 d 8
a. — e. 2
X
A,L\ 4
3 2 -1 72/71 \
\
8. Use the graphs of f and g to answer each.
a. f(-2) f(x
T oxon2 x> g(X)
. lim g(x i i
c H_rg( ) . LlTlf(x)Jrg(x)
i i i
d. limg(x) i lim f(g(x))
e limf(x)+lima(x) k. limg(f(x))

C ol
g. Iimg(x)

x—1"

I.  Name the open intervals that g is
continuous.



Find each limit.

. x*-16
9. lim 3
x—>-4 x° + 64
. =3xP4+2x-1
10. Ilm—2
x>0 A —Tx
. 2tanbx
11. lim
x—0 X
C3x*-3x"+2x-1
12. lim 3
X0 4 —-5x
. 3sindx
13. lim
x—0 X
. 1
14. lim ——
x>=2 X+2

Name the discontinuities. Label as removable or non-removable.

2x—1
21. f(x)=3_7x

Find a and b or k so that f(x) is continuous.

ksin@, x<
23. f(x)=
( ) 3—-411-x
—2 x>2
X_
2x—a a
4x> —a*’ X?&E
24. f(x)=
12, x=2
2

!
15, limNi+tX

x—0 X
Ax) =2(x+Ax)+3—(x* —2x+3
. Iim(x+ ) —2(x+Ax)+ (x x+)
Ax—0 AX

s
17. lim ——
x—=5 X—5

jm Y213

x—1 x—1

18.

19. fim ——
>4 (x+4)

. 1—cosx
20. I|m—2
x—0 3x

1—x
2 f(x): X +2x-3

3a—12xb, x<-2
25. f(x)z 5 x=-2

ax> +3xb, x>-2

Perform the 3 step test for continuity on f (x) at given value of x. Use correct notation.

3sin£;x£2ﬂ
26. f(x)= 2 ATx =27
X
—tan—;x>2rx
8

2—X
2x° —7x+6
a. Name intervals where f(x) is continuous
b. Label discontinuities as removable or non-removable.
29. Write your own example of the Intermediate Value Theorem.

28. Consider: f(x) =

30. Show that the IVT is valid on the given interval and find the value of c that is guaranteed by the theorem. f(x) =x’—x—-4

on [-1,5], f(c) =2

3x*-2,x<-1
27. f(x)=41,x=-1 ATx=-1
8x* —5x+4,x>-1

STUDY YOUR QUIZZES!!




Answers

1. E 3
2. B 18. £
3. E 3
4. C 19. —©
20. 1/6
5. C
6. A 21. NON -removable: x =3/7
7' c 22. removable:x=1
8. _ non-removable: x = -3
' a 1 23. k=1/3
’ 24. 1/24
b. 2
. 0 25. a=25/19,b=5/114
4 1 26. 1. f(27r)=3sinz=0
e. -1 2. lim f(x)=0, lim f(x)=-1
f. 2 xﬁZﬂ’f( ) ’ xﬁZ;r*f( )
g -1 3.-
h. —oo conclusion: sadly, f(x) is discontinuous at 277
i1 27. 1. f(-1)=1
i o . .
2. lim f(x)=1, lim f(x)=-1
k. 2 x—)—l’f( ) x—)—l*f( )
L (-3,-2)u(-2,0)u(0,1)u(1,3) 3. lim f(x)=1=f(-1)
x—>-1
9. -1/6 conclusion: f(x) is continuous at -1
10. 3/7 )8, -
11. 10 ’
b o a. (—0,3/2)U(3/2,2)U(2,0)
13. 12 b. Removable: x =2
14. —o Non-removable at x = 3/2
15. -1/2 29. Arunner accelerates from 0 to 8 mph in 2 seconds.
16. 3x%—2 Runner must have been traveling 4mph at least once
17. 1 between 0 and 2 seconds.

30. f(—l) =—4, f(5) =116 IVT applies since 2 is
between -4 and 116. C=2



